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1 FEHFTHEERE AR (H28.12.135%F)
HEEIRA [EURI5 P EIREFE HRRE B FRE BERE
H28.12.7 B[ INGFID Eit3 ) - -
H28.12.10 E[A= FAIXFERY Eirt3 %) - -
H28.12.13 MEX TH EHEET CX) - -
H28.12.14 B[d=S AR A Eipt3 %) - -
H28.12.15 TRX LK EHEET ) - -
H28.12.17 IR NG FIY Eipt3 %) - -
H28.12.17 TRX JN\TFay EHEET ) - -
H28.12.17 IR IN\GFIY Eipt3 %) - -
H28.12.20 X NGFIAY EEET CX) - -

XIEEDEE-BRAZELL, BETILENZBOONLTVEICIUEREET

2 FETHEERELRXE (H28.12.2215%)
ERERA | EEH A EETEE EERE
H28.12.18 IR aNDFa H28.12.19f& 1% H28.12.22[5 1% Haséﬁg%ﬂﬁi.lﬁ
H28.12.20 TX NTFIT ES EilCa) - =
H28.12.21 BlA=S e 94 EEET ) - -
H28.12.23 IR dA/ H28.12.27f& 1% H28.12.29FE & =
H28.12.23 R HEH EHEET CX) - -
H28.12.23 E[d=3 dA/ H28.12.27[& 1% H28.12.29FE & =
H28.12.24 HX JHE EHEET CX) - -
H28.12.26 B[d=S HIVHE Eipt3 %) - -
H28.12.27 REX HILHE EHEET ) - -
H28.12.27 FRX HhSR Eipt3 %) - -
H28.12.28 MEX IHE H29.1.52 1% H29.1.11fE1E =
H28.12.28 BHX AR A Eiptd %) - -
H28.12.31 BX JHE EEET X) - -
H29.1.1 X J3=X4 Eirt3 %) - -
H29.1.1 TR Nk EEET CX) - -
H29.15 BHX JHE Eirt3 %) - -
H29.1.6 B[S Hh3R EEET X) - -
H29.1.7 MERX HILHE Eirt3 %) - -
H29.1.7 X A<0 EEET CX) - -
H29.1.8 MERX <~HE H29.1.13fE 1% H29.1.17FEME =
H29.1.9 FRX ARA EEET X) - -
H29.1.9 B[d=S Hh14vIY H29.1.13fE M H29.1.17FETE =
H29.1.9 TR <HE EEET X) - -
H29.1.9 FRX Y X Eirt3 %) - -
H29.1.10 TR Nk EEET CX) - -
H29.1.10 IR LIKRY Eirt3 %) - -
H29.1.10 TEX ARA EEET CX) - -
H29.1.10 FRX INTFID EEET X) - -
H29.1.10 B[S DH FEEET X) - -
H29.1.10 BHX INEH H29.1.13fE 1% H29.1.17FEME =
H29.1.11 BX A\~ EEET X) - -
H29.1.12 BHX o Eirt3 %) - -
H29.1.12 hREX HEAEER) EEET X) - -
H29.1.14 B[d=S Nk EEET X) - -
H29.1.16 MERX Nk EEET X) - -
H29.1.16 B[d=S E/\Y EEET X) - -
H29.1.18 STEX ARA EEET X) - -
H29.1.18 IR LA Eirt3 %) - -
H29.1.18 EX A\~ EEET CX) - -
H29.1.19 BHX JHE Eirt3 %) - -
H29.1.19 BX JHE EEET X) - -
H29.1.19 SIRX N Eirt3 %) - -
H29.1.19 MERX ARA EEET X) - -
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FEMIRA EIURS P mIREFE BZRE Bz FRE BRE
H29.1.20 MERX L Eirt3 %) - -
H29.1.20 FRX AR A EEET X) - -
H29.1.20 BHX HILHE Eipt3 %) - -
H29.1.20 HX ARy H29.1.24F2 1% H29.1.26F& 1% -
H29.1.20 1 <HE Eipt3 %) - -
H29.1.20 B[S =] EEET X) - -
H29.1.24 MERX Nk EEET X) - -
H29.1.25 SIRX B FiEtd %) - -
H29.1.25 ImX Nk EEET X) - -
H29.1.26 hRX Nk EEET X) - -
H29.1.26 BX <HE H29.1.27fEE (&%)

H29.1.26 hREX Hh3R EEET CX) - -
H29.1.27 hRx LIKRY Eipt3 %) - -
H29.1.27 BX DH EEET X) - -
H29.1.27 1 JHE Eipt3 %) - -
H29.1.30 it =] EEET X) - -
H29.1.30 BHX AR A Eirt3 %) - -
H29.1.31 hREX Nk EEET CX) - -
H29.2.1 g [X Ho LYHAYTY Eirtd %) (BEH)
H29.2.1 hRX ARA EEET X) - -
XIEEARDEE - BHRAZELL, RETIVHEHNZBOONEVFICKYERELET
3 HEEMRELARESN
FEMIRA EUR5 Pl mIREE BERE Bz FRE BRE
1 H28.12.1 MEX <HE H28.12. &% H28.12.6FE 1 =
3 H28.12.1 BlA=S NP F3aY H28.12.1FE1% H28.12 6[E T =
8 H28.12.2 HX FA I\ H28.12.2FE 1% H28.12.6FE 1% =
24 H28.12.3 BlA=S *A I\ H28.12. 3FE 1% ElEET X) -
25 H28.12.3 IR HE EEET CX) - -
42 H28.12.4 [ = JH4E Eit3 ) - -
43 H28.12.4 [ = Nk Eirt 3 %) - -
52 H28.12.4 MEX FEHOKE) Eit3 ) - -
58 H28.12.5 BRX A H28.12.5f& 1% H28.12.8F& 1 =
66 H28.12.5 FEX BH FEET X) - -
67 H28.12.5 FRX HhS5R Eirt3 %) - -
80 H28.12.7 X AXHE H28.12. 7214 H28.12.9F& 1% -
81 H28.12.7 FRX HILHE ElET CK) - -
88 H28.12.7 MERX JHE EEET X) - -
92 H28.12.8 FREX AR A Eipt3 %) - -
105 | H28.12.9 hRX LYK EEET X) - -
118 | H28.12.10 MEX L Eirt3 %) - -
119 | H28.12.10 MEX <HE H28.12.10FE T H28.12.15[E T -
122 ] H2812.11 i =3 Y Eipt3 %) - -
123 H2812.11 X AA/ H28.12.11[E H28.12.15[& =
124 H2812.11 HX HILHE FHEET ) - -
135 | H2812.12 MERX LYK EEET X) - -
148 H2812.13 PA= <~HE H28.12.13FE T H28.12.15FE & -
149 | H2812.13 = HAILHE EEET X) - -
150 | H28.12.13 BX S IZXY H28.12.13[& 1% H28.12.19F& 1% =
168 | H28.12.16 FRX Pl EEET X) - -
169 | H28.12.17 BHX NG Eirt3 %) - -
183 | H28.12.18 BX NGFIY EEET X) - -
185 | H28.12.18 FERX <HE Eirt3 %) - -
187 | H28.12.18 Bl <HE H28.12.19FE & H28.12.22FE 1% -
204 ] H28.12.19 X FEH(\R?) EEET X) - -
210 | H28.12.20 IR FAIN H28.12.21f& 1% H28.12.27F& =
H28.12.22 i J/\9FaY H28.12.22F& 1% H28.12.26 &% =
236 | H28.12.23 R X J/N\GFIY H28.12.27fE 1% H28.12.29F& 1% =
H28.12.28 [ =3 JNIFIY H28.12.28F& 1% H29.1.1FEME =
343 H29.1.30 MEX AR A Eiet3 %) -
XIEEARDEE - BERAZELL, RETIVHEHNZFOONEVFICKYEREET




